A L= ==
SHISEE 108 TEFER
_ SR
B =R/ TEFE 512 | $iS HwEe
Z1E [ 256 | 35 | 4& | 5% | 68
1 * (KB
2 A A | 82| 5 5 5 6 6 6 O
3N |sCommtEig aBSRHIEE (3,44 SER) | B 4 4 5 5 4 4 O
4 : K |EER (6/HF) A 5 5 5 6 6 6 @)
5 K |BERE 3F) A 5 5 6 6 6 6 @)
6 & |(BrsiEang UEY A | &2 5 5 6 6 6 6 O
7 N
7t s C 4 4 4 4 4 4 O
8 H |#&H
9 | A [RAIR—YmDH
10 XN [{REAEH
111 7k |4msmmese A 4 4 4 4 4 4 O
ZEEE R YIRS ~
120 A2 vemmene (i mm) AJES| S > 6 6 6 6
13| & |#hEt A 5 5 6 6 6 6 O
14 * |[#KH
15 8 |[#A
TRV T~ BRES N
16 B | mssmmma A |E2]| 5 5 5 6 6 6 O
T [SHEEE SC RN TR (45
170 R s s (o) Mt A > > > > > 6 O
18 K |957 (648) A 5 5 5 6 6 6 O
19| K& |4BSR9IS%E Q& SKR) B 4 5 4 4 4 4 O
20 & |EERRE (1, 26) U0 A 6 6 6 6 6 6 O
21 £ [RE
22 H |[KH
23 B |Exgs RANGE (44F) LBLE | A | #£2]| 5 5 5 6 6 6 O
24 X |TGGER (6%4F) SC A 5 6 6 6 6 6 O
TR
25 K| e A 4 4 4 4 4 O
26 K |mxEs A |®E2]| s 5 6 6 6 6 O
27 & A 5 5 6 6 6 6 O
28 T [fKH
29 [7N=]
30 B |mMFRi%Z A 5 5 5 6 6 6 @)
31 K [sC Zxgs A 5 6 6 6 6 6 O
1 K |REx (655 A 5 5 5 6 6 6 O
A
‘EAII: (»%
2 K |EAE Ko 5 5 6 6 6 6 O
3 £ |>3fbpH

SC: RO—ILAD> 5 —kKH

X IEFEFEEIDCENHDFET. BHIERE. R—LR—Z2ZHRIZE0,

DI L DEELRH




